
QMB Panelboards Blank Fillers
Installation of QMB1BLW, QMB3BLW, QMB6BLW, and QMB15BLW 
onto a QMB Panelboard

Placas de relleno para los tableros de alumbrado y 
distribución QMB
Instalación de los kits QMB1BLW, QMB3BLW, QMB6BLW y QMB15BLW en un 
tablero QMB

Plaques de remplissage pour panneaux de distribution QMB
Installation des kits QMB1BLW, QMB3BLW, QMB6BLW et QMB15BLW sur un 
panneau de distribution QMB

Instruction Bulletin
Boletín de instrucciones
Directives d'utilisation

80043-136-06
Retain for Future Use. / 
Conservar para uso futuro. / 
À conserver pour usage ultérieur.





80043-136-06
05/2009

Peru, IN, USA

© 2003–2009 Schneider Electric All Rights Reserved

Instruction Bulletin

QMB Panelboards Blank Fillers
Installation of QMB1BLW, QMB3BLW, QMB6BLW, and QMB15BLW 
onto a QMB Panelboard 
Class 4620

Retain for future use.

E
N

G
L

IS
H

Introduction This bulletin contains instructions for installing Square D® brand 
QMB panelboards QMB1BLW, QMB3BLW, QMB6BLW, and QMB15BLW 
blank fillers in a Square D brand QMB panelboard manufactured by 
Schneider Electric.

Safety Precautions

Kit Contents

Tools Needed

DANGER
HAZARD OF ELECTRIC SHOCK, EXPLOSION, OR ARC FLASH

• Apply appropriate personal protective equipment (PPE) and follow safe electrical work practices. See NFPA 70E.

• This equipment must only be installed and serviced by qualified electrical personnel.

• Turn off all power supplying this equipment before working on or inside equipment.

• Always use a properly rated voltage sensing device to confirm power is off.

• Replace all devices, doors, and covers before turning on power to this equipment.

Failure to follow these instructions will result in death or serious injury.

QMB1BLW, QMB3BLW, 
QMB6BLW, and QMB15BLW

A. Blank filler support bracket, left (1)

B. Blank filler support bracket, right (1)

C. 10-32 X 7/16-in. tapping screws (2)

D. 1/4-20 X 3/4-in. machine screws (2)

E. 1/4-20-in. Spring nuts (2)

F. Blank cover (1)

A B

C
D

E

F

• #2 Square-head Robertson driver

• 3/8-in. Socket or flat-head screwdriver



Electrical equipment should be installed, operated, serviced, and maintained only by 
qualified personnel. No responsibility is assumed by Schneider Electric for any 
consequences arising out of the use of this material.

Schneider Electric USA
252 North Tippecanoe
Peru, IN  46970 USA
1-888-SquareD (1-888-778-2733)
www.us.SquareD.com

Square D® is a trademark or registered trademark of Schneider Electric. Other 
trademarks used herein are the property of their respective owners.

© 2003–2009 Schneider Electric All Rights Reserved2

E
N

G
L

IS
H

QMB Panelboards Blank Fillers  80043-136-06
Instruction Bulletin 05/2009

Installing a QMB Panelboards Blank Filler

Turn off all power supplying this equipment before working inside the panelboard; follow all lockout/tagout procedures.

1 Push the spring nuts over the corresponding elongated holes in the mounting rail.

10-32 X 7/16-in. tapping screws

Blank cover

Mounting rail

Spring nut

Support brackets1/4-20 X 3/4-in. machine screw

Spring nut

1/4-20 X 3/4-in.
machine screw

2 Use the 1/4-20 x 3/4-in. machine screws to attach the support brackets to the mounting rail.

3 Use the 10-32 X 7/16-in. tapping screws to attach the blank cover to the support brackets.



© 2003–2009 Schneider Electric Reservados todos los derechos

Boletín de instrucciones
80043-136-06

05/2009
Peru, IN, EUA

Placas de relleno para los tableros de alumbrado y 
distribución QMB
Instalación de los kits QMB1BLW, QMB3BLW, QMB6BLW y QMB15BLW en un 
tablero QMB 
Clase 4620
Conservar para uso futuro.

Introducción Este boletín contiene las instrucciones de instalación de las placas de 
relleno QMB1BLW, QMB3BLW, QMB6BLW y QMB15BLW marca Square D 
en los tableros QMB marca Square D® fabricados por Schneider Electric.

Precauciones de seguridad

Contenido del kit

Herramientas necesarias

DANGER
PELIGRO DE DESCARGA ELÉCTRICA, EXPLOSIÓN O DESTELLO POR ARQUEO

• Utilice equipo de protección personal (EPP) apropiado y siga las prácticas de seguridad en trabajos eléctricos establecidas 
por su Compañía, consulte la norma 70E de NFPA y NOM-029-STPS.

• Solamente el personal eléctrico especializado deberá instalar y prestar servicio de mantenimiento a este equipo.

• Desenergice el equipo antes de realizar cualquier trabajo dentro o fuera de él.

• Siempre utilice un dispositivo detector de tensión nominal adecuado para confirmar la desenergización del equipo.

• Vuelva a colocar todos los dispositivos, las puertas y las cubiertas antes de volver a energizar el equipo.

El incumplimiento de estas instrucciones podrá causar la muerte o lesiones serias.

QMB1BLW, QMB3BLW, 
QMB6BLW y QMB15BLW

A. (1) soporte sujetador de la placa de relleno, 
izquierdo

B. (1) soporte sujetador de la placa de relleno, 
derecho

C. (2) tornillos roscantes de 10-32 x 7/16 

D. (2) tornillos de máquina de 1/4-20 x 3/4

E. (2) tuercas de resorte de 1/4-20

F. (1) placa protectora

A B

C
D

E

F

• Destornillador Robertson no. 2 (cabeza cuadrada) 

• Punta de destornillador con cavidad hexagonal de 3/8 o de punta plana

E
S

P
A

Ñ
O

L



Solamente el personal especializado deberá instalar, hacer funcionar y prestar 
servicios de mantenimiento al equipo eléctrico. Schneider Electric no asume 
responsabilidad alguna por las consecuencias emergentes de la utilización de 
este material.

Importado en México por:
Schneider Electric México, S.A. de C.V.
Calz. J. Rojo Gómez 1121-A
Col. Gpe. del Moral 09300 México, D.F.
Tel. 55-5804-5000
www.schneider-electric.com.mx

Square D® es una marca comercial o marca registrada de Schneider Electric. 
Cualquier otra marca comercial utilizada en este documento pertenece a sus 
respectivos propietarios.

© 2003–2009 Schneider Electric Reservados todos los derechos2

Placas de relleno para los tableros de alumbrado y distribución QMB  80043-136-06
Boletín de instrucciones 05/2009

E
S

P
A

Ñ
O

L

Instalación de la placa de relleno para los tableros de alumbrado y distribución QMB

Desenergice el equipo antes de realizar cualquier trabajo dentro del tablero de alumbrado y distribución y siga 
los procedimientos de bloqueo / etiquetado.

1 Empuje las tuercas de resorte sobre los agujeros alargados correspondientes en el riel de montaje.

Tornillos roscantes de 10-32 x 7/16

Placa protectora

Riel de montaje

Tuerca de resorte

Soportes sujetadoresTornillo de máquina de 1/4-20 x 3/4

Tuerca de resorte

Tornillo de máquina de
1/4-20 x 3/4

2 Emplee los tornillos de máquina de 1/4-20 x 3/4 para instalar los soportes sujetadores al riel de montaje.

3 Emplee los tornillos roscantes de 10-32 x 7/16 para instalar la placa protectora a los soportes sujetadores.



© 2003–2009 Schneider Electric Tous droits réservés

Directives d’utilisation
80043-136-06

05/2009
Peru, IN, É.-U.

Plaques de remplissage pour panneaux de distribution QMB
Installation des kits QMB1BLW, QMB3BLW, QMB6BLW et QMB15BLW sur un 
panneau de distribution QMB 
Classe 4620
À conserver pour usage ultérieur.

Introduction Ce bulletin contient les directives pour l'installation des plaques de 
remplissage QMB1BLW, QMB3BLW, QMB6BLW et QMB15BLW de la 
marque Square D® sur un panneau de distribution QMB de la marque 
Square D fabriqués par Schneider Electric.

Mesures de sécurité

Contenu du kit

Outils nécessaires

DANGER
RISQUE D'ÉLECTROCUTION, D'EXPLOSION OU D'ÉCLAIR D'ARC

• Portez un équipement de protection personnelle (ÉPP) approprié et observez les méthodes de travail électrique sécuritaire. 
Voir NFPA 70E.

• Seul un personnel qualifié doit effectuer l'installation et l'entretien de cet appareil.

• Coupez toutes les alimentations de l'appareil avant d'y travailler.

• Utilisez toujours un dispositif de détection de tension à valeur nominale appropriée pour s'assurer que l'alimentation est coupée.

• Replacez tous les dispositifs, les portes et les couvercles avant de mettre l'appareil sous tension

Si ces directives ne sont pas respectées, cela entraînera la mort ou des blessures graves.

QMB1BLW, QMB3BLW, 
QMB6BLW et QMB15BLW

A. Support de montage de la plaque de 
remplissage de gauche (1)

B. Support de montage de la plaque de 
remplissage de droite (1)

C. Vis auto-taraudeuses de 10-32 x 7/16 po (2)

D. Vis mécaniques de 1/4-20 x 3/4 po (2)

E. Écrous à ressort de 1/4-20 po (2)

F. Plaque de remplissage (1)

A B

C
D

E

F

• Tournevis à pointe Robertson (carrée) nº 2

• Tournevis à tête plate ou à douille de 3/8 po

F
R

A
N

Ç
A

IS



Seul un personnel qualifié doit effectuer l’installation, l’utilisation, l’entretien et la 
maintenance du matériel électrique. Schneider Electric n’assume aucune 
responsabilité des conséquences éventuelles découlant de l’utilisation de cette 
documentation.

Schneider Electric Canada
19 Waterman Avenue
Toronto, Ontario M4B 1Y2
1-800-565-6699
www.schneider-electric.ca

Square D® est une marque commerciale ou marque déposée de Schneider Electric. 
Toutes autres marques commerciales utilisées dans ce document sont la propriété 
de leurs propriétaires respectifs.

© 2003–2009 Schneider Electric Tous droits réservés2

Plaques de remplissage pour panneaux de distribution QMB  80043-136-06
Directives d’utilisation 05/2009

Installation de la plaque de remplissage pour panneaux de distribution QMB

Couper toutes les alimentations à cet appareil avant de travailler à l'intérieur du panneau de distribution et 
observer toutes les procédures d'interverrouillage et d’étiquetage.

1 Insérer les écrous à ressort sur les trous allongés correspondants dans le rail de montage.

Vis auto-taraudeuses de 10-32 x 7/16 po

Plaque de 
remplissage

Rail de montage

Écrou à ressort

Supports de montageVis mécanique de 1/4-20 x 3/4 po 

Écrou à ressort

Vis mécanique de
1/4-20 x 3/4 po

2 Utiliser les vis mécaniques de 1/4-20 x 3/4 po pour fixer les supports de montage aux rails de montage.

3 Utiliser les vis auto-taraudeuses de 10-32 X 7/16 po pour fixer la plaque de remplissage aux supports de montage.



Notes



Notes





Electrical equipment should be installed, 
operated, serviced, and maintained only by 
qualified personnel. No responsibility is assumed 
by Schneider Electric for any consequences 
arising out of the use of this material.

Solamente el personal especializado deberá instalar, 
hacer funcionar y prestar servicios de mantenimiento 
al equipo eléctrico. Schneider Electric no asume 
responsabilidad alguna por las consecuencias 
emergentes de la utilización de este material.

Seul un personnel qualifié doit effectuer l’installation, 
l’utilisation, l’entretien et la maintenance du matériel 
électrique. Schneider Electric n’assume aucune 
responsabilité des conséquences éventuelles 
découlant de l’utilisation de cette documentation.

Schneider Electric  USA
252 North Tippecanoe
Peru, IN  46970 USA
1-888-SquareD (1-888-778-2733)
www.schneider-electric.us

Importado en México por:
Schneider Electric México, S.A. de C.V.
Calz. J. Rojo Gómez 1121-A
Col. Gpe. del Moral 09300 México, D.F. 
Tel. 55-5804-5000
www.schneider-electric.com.mx

Schneider Electric Canada
19 Waterman Avenue 
Toronto, Ontario M4B 1Y2
1-800-565-6699
www.schneider-electric.ca

80043-136-06 05/2009
© 2003–2009 Schneider Electric
All Rights Reserved 

80043-136-06 05/2009
© 2003–2009 Schneider Electric
Reservados todos los derechos

80043-136-06 05/2009
© 2003–2009 Schneider Electric
Tous droits réservés

QMB Panelboards Blank Fillers
Placas de relleno para los tableros de alumbrado y distribución QMB
Plaques de remplissage pour panneaux de distribution QMB

Square D® is a trademark or registered 
trademark of Schneider Electric.  Other 
trademarks used herein are the property of their 
respective owners.

Square D® es una marca comercial o marca registrada 
de Schneider Electric. Cualquier otra marca comercial 
utilizada en este documento pertenece a sus 
respectivos propietarios.

Square D® est une marque commerciale ou marque 
déposée de Schneider Electric. Toutes autres marques 
commerciales utilisées dans ce document sont la 
propriété de leurs propriétaires respectifs.



 

All trademarks are the property of 
Schneider Electric SE, its subsidiaries, and 
affiliated companies.

Todas las marcas comerciales son propiedad de 
Schneider Electric SE, sus filiales y compañías 
afiliadas.

Toutes les marques commerciales sont la propriété de 
Schneider Electric SE, ses filiales et compagnies 
affiliées.

Schneider Electric USA, Inc.
800 Federal Street
Andover, MA 01810 USA
888-778-2733
www.schneider-electric.us

Importado en México por:
Schneider Electric México, S.A. de C.V.
Av. Ejercito Nacional No. 904
Col. Palmas, Polanco 11560 México, D.F.
55-5804-5000
www.schneider-electric.com.mx

Schneider Electric Canada, Inc.
5985 McLaughlin Road
Mississauga, ON L5R 1B8 Canada
800-565-6699
www.schneider-electric.ca

80043-842-01
08/2018

California Proposition 65 Warning—Nickel Compounds and 
Bisphenol A (BPA)
Advertencia de la Proposición 65 de California—
compuestos de níquel y Bisfenol A (BPA)
Avertissement concernant la Proposition 65 de Californie—
composés de nickel et Bisphénol A (BPA)

 Addendum Anexo Annexe

© 2018 Schneider Electric All Rights Reserved / Reservados todos los derechos / Tous droits réservés 

WARNING: This product can 
expose you to chemicals 
including Nickel compounds, 
which are known to the State of 
California to cause cancer, and 
Bisphenol A (BPA), which is 
known to the State of California 
to cause birth defects or other 
reproductive harm. For more 
information go to 
www.P65Warnings.ca.gov.

ADVERTENCIA: Este producto 
puede exponerle a químicos 
incluyendo compuestos de níquel, que 
son conocidos por el Estado de 
California como causantes de cáncer, 
y Bisfenol A (BPA), que es conocido 
por el Estado de California como 
causante de defectos de nacimiento u 
otros daños reproductivos. Para 
mayor información, visite 
www.P65Warnings.ca.gov.

AVERTISSEMENT: Ce produit peut 
vous exposer à des agents chimiques, y 
compris composés de nickel, identifiés 
par l'État de Californie comme pouvant 
causer le cancer, et Bisphénol A (BPA) 
reconnus par l'État de Californie comme 
pouvant causer des malformations 
congénitales ou autres troubles de 
l'appareil reproducteur. Pour de plus 
amples informations, prière de 
consulter www.P65Warnings.ca.gov.

http://www.p65warnings.ca.gov/
http://www.p65warnings.ca.gov/
http://www.p65warnings.ca.gov/

	Introduction
	Safety Precautions
	Kit Contents
	Tools Needed
	Installing a QMB Panelboards Blank Filler
	Introducción
	Precauciones de seguridad
	Contenido del kit
	Herramientas necesarias
	Instalación de la placa de relleno para los tableros de alumbrado y distribución QMB
	Introduction
	Mesures de sécurité
	Contenu du kit
	Outils nécessaires
	Installation de la plaque de remplissage pour panneaux de distribution QMB


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


